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Directions (Q. 31-35):-Direction for Question
Study the following graph carefully and answer the question given below. Production of three

types of bakery products by a company over the year (In Lakh units)
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The total production other items in 2011 and 2012 together was what approximate percentage of
Namkeen in 2013?
2011 3T 2012 W 31T TEGST T hel IcUTEA 2013 W THehIH hT ST TeheAT Tierora AT?
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The total number of all the three types of product production was the least in which of the

following years?

freferaa o & fore o § AT ToRR o 3cUTE IcUTEH sh el AT Gad A oft?
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What was the percentage drop in the production of number of units of other items from 2012
to 2013?
2012 ¥ 2013 T 31T TEAT hl FRISAT Shl ST oh IcdqTeA H Tfavra FRrere s oft?
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What was the difference between the number of units of Namkeen production in 2013 and
2014.

2013 3R 2014 W THHIT IcUTSH hi FRTSAT chil HEAT o 1< oht 3T Tera=T 91?2

(A)2000000 (B)450000 (C)1000000 (D)10000 (E)None
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In which of the following years was the percentage production of Namkeen to Other

items the maximum?

freferiaa & & fore o & o= aEqatt st Tt § THeRI ST IJeaTe AfavTa STTerehaw oT?

(A) 2014 (B) 2012 (O) 2011 (D) 2015 (E) None
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Directions (Q. 21-25):-Read carefully following table answer given question according to it-

Selling of Mobile phone in different shops in the month of August-2015
freferiRea arferert & s17aR AU MU w2 % I LA | ug- Ea-2015 e # fafv= gt o
Mg W <6l Tershl

Mobile Samsung Motorola

160 130 120 114 102
a o 126 170 132 105 93
(C)r———fa 178 198 133 109 95

——> 189 177 148 112 77

(::> 111 143 155 100 82




What is the average no of mobiles sold at sho@@ an@

ngmA,DaﬁTEmé%WﬁaEﬁsﬁsﬁwﬁwﬁmﬁ%? /
640

(A)600 (B)630 (C)670 (D)650




Which two shop had equal in no. of sold mobile?
TeReT 2T ehTT | sl T HISTSeT shi HEAT STe oft?
(A)A and C (B)A and E (C)Band E 0\(){4 and B (E)C and D

Mobile Motorola
Brand

626 <—a 160 130 120 114 102
; Qﬁv <8 126 170 132 105 93
113 £ 178 198 133 109 95
Jor —p 189 177 148 112 77

5‘1] | — E 111 143 155 100 82




Mobile brand of Samsung in all shops is how much % more/less than mobile brand of Sony in all

P ————

shops?(approximately)

|t g W TG w1 WGEA §7E, A FoRT T AT o Warger Jis & foraar, stferen/swua

T2 ()
(A) 8% more \%more (C) 11%less (D) 17%less (E) 19%more

!

Mobile Samsung Motorola
Brand

>R X[Q A 160 130 120 | 114 102
K¢8 & 126 170 k 105 93
—
M\ @ C 178 198 133 109 95

Se— D 189 177 148 112 77
o
E 111 143 5 100 82




Average of mobile Samsung and Motorola is how much more/less than average of mobile Sony
and LG?
METSEr ST AR HISRIAT T AT WaTged THT AR Terst o sited o feraar /R &2

(A) 33.4 (B) 42.9 (C) 49.4 (D) 55.7 ) None of these
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Mobile

= '%Oq- Brand

% Y g B 126 170 132 105 93

‘ ?3 - 178 198 133 109 95
189 177 148 112 77

E 111 143 155 100 82




Mobile brand of Nokia in shop B and E is what % of mobile brand of LG in the same
shop?(approximately)

g%ﬁﬁBjﬁ'{Eﬁqﬁ%msm SIS AW GehT H LG o HIATSeA SIS ST fehe =T Tiaera 22(eTTemT)
(A) 200% (C) 55% (D) 79% (E) 44%

‘%

Motorola

A 160 130 120 114 102
B 126 @ 132 105
C 178 198 133 109
D 189 177 148 112

E " 111/1 @ 155 100




In a team of 10 persons, nine persons spent ¥ 40

each for their meal and the remaining one spent ¥ 9
more than the average expenditure of all the 10
persons. The total expenditure for their meal was

10 Safeadi st 9 |, Al safordl 3 3799 disH 9 9fd 40
TIU @9 fohU 3R 99 Tk Afed 3 9+t 10 feaai &
A9d @9 9 9 T Afeer TE fhul ST |ieH W Hd

fehdHl =g g3 ? \/(,3/
(1) 510 (2) T 310 4 410{(4)_?\610
lopoug () 5 bothtlolon




If the average of 6 consecutive even numbers is
25, the difference between the largest and the
smallest number iIs

Ife 6 e 9 H@qieﬂ‘r 1 39 25 81, @ 379 el e
qon gy X TR B2




What is the average of the first six (positive) odd num-
bers each of which is divisible by 77

mum%(m)ﬁmm&ﬁmaﬁmm%‘

7 T favs 81?7
42 (2) 43 (3) 47 (4) 49

367‘71_ @




